St. Andrews Scots Sr. Sec. School

9th Avenue, I.P. Extension, Patparganj, Delhi -110092
Session: 2025-2026

Class: IV Subject: Mathematics Topic: Unit -2 (Addition and Subtraction)

Questions to be done-
Warm up
Ex-1 Q.1 (Book) Q.2 (a,c)(Notebook)
Q.3 (a) (Notebook)
Ex-2Q.1,Q.2 (b) (Book)
Q.3 (a,d) (Notebook)
Properties of addition
Ex -3 (Book)

Ex -4 Q.1 (Book) Q.2 (a,c) (Homework), Q.3 (a,c) (Notebook)
Ex-5Q.1, Q.2 (Book), Q.3 (b,c) (Notebook)
Ex -6 Q.1, Q.3 (Notebook)

Properties of Subtraction

Ex -7 (Book)

Ex -8 Q.1 (b,d) (Notebook), Q.2(a ) (Notebook)

Ex -9 Q.1 (a,c) (Notebook), Q.2(b,c) (Notebook), Q.3(a,d) (Notebook), Q.4(Homework)



Lesson-2 : Addition and Subtraction

Warm Up
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Exercise-1
1. (a) (ii) Total number of eggs sold 32735
= 32,735+35,024 +35024
— 67,759 67759
876543
(b) (i) Required number = 8,76,543 +12,345 +12345
- 8,88,888 535855
2. (a) 40,718 +57,161 = 97,879 (b) 72,354 +13,215 = 85,569
40718 72354
+57 161 +1 3215
97879 85569

(c) 2,40,125+3,47,521=5,87,646
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Exercise-2

(a) (iii) Total population of the town O OO0
= Number of males + Number of females 234786
= 2,34,786 +1,93,877 tl23e772
Bt iaiaia 1286603
= 4,258,663

000

(b) (ii) Total number of locks manufactured 5 2 5? 4
= 52,584 + 37,846 +3 7846
= 90,430 90430

(a) @ b) O OO0

52768 531786
+16720 +173438
69488 705224
(a) 54,324 +21,746=76,070 (b) 15,427 + 67,553 = 82,980
OO o O
54324 15427
+21746 +6 7553
76070 829810
(c) 6,52,813+2,67,245=9,20,058 (d) 5,12,345+2,37,659 =7,50,004
000 00100
652813 512345b
+267245 +2 37659
920058 750004

Exercise-3
0 2.21347 3.53476 4.1 5.14357 6.35458 7.234567



Exercise-4
1. (a) (ii) Number of words left to be read = 88,728 — 37,417 = 51,311

8B728
-37417
51311
(b) (iii) Amount of money left in account
= ¥8,28,050 - T 4,17,050 52 8 0:5:0
-417050
2, (a) 57913 (b) 7 OO A A
-2 4 6 1 -4 2 4 2 4
3 3.3 3 3 5.3 853
(c) 6 78 439 (d) 954210
-4 6 71 3 -9 1 3000
211316%86 41210
3. (a) 7 4156 (b) 8 9320
-3 2 3 4 -6 8110
4 21 2 2 2 1230
(c) 18976 5 (d) 989989
-12 365 4 -1 2114 2
6611 1 6 8 4 7
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Exercise-5

(@) (iii) The smallest 6-digit number = 100000 ?‘E ? ?3 ?ﬁ:ﬂ@
The greatest 5-digit number = 99999 _9 9999
Required difference = 100000 - 99999 = 1 00001

(b) (i) Number of students failed OICIEIGIN)
= 1,45,280 - 1,28,425 = 16,855 1| ¥ 52848

-128425

16855

2. 2 GOO®® B OO © GOV
o A X 2AxHe A2

-4 5 45 4 -3987 3 -29999

1 4546 3 337 2921 4
d @BOEGOD e GO 0L h 00 GO
S P g5 o 25 ¢ FX 2L 64N 6 A& 672
297 37 2 -2 7532 4 -3 19517

4 845609 257316 3241505

3. (a) 68,143 -59,981 = 8162 (b) 83,210~-79,921 = 3289

QOO OROOO
o8 XA 3 BXZXH
-59981 -79921

8162 32809

(c) 4,83,695-2,77,898 = 2,05,797

QOOBB
A 8X BT H

-2 7 7 898
2. 0579 7

(d) 7,14,345-5,37,705 = 1,76,640




Exercise-6

Checking :

Q0

Q0

3 X7 46

F X7 46

= 5 & 329" 1% 3 14

+1 6 3 14

3 2

1

6 3 14

|

3 17 46

Checking :

O EIEJORE

YA A B 35

-54392%% _896 43

+5 43 92
14 4 0 35

543 92

8 9 6 43

Checking :

OJORV)
7 4

+5 9 9 81

50

-5 99 81

6 7 4 31

7 4 50

Exercise-7

2. 72,998

3‘

1. 28,172



Exercise-8

1. (a) 251,743 +6,21,301 =1,19,254 = 7,53,790

00O
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2
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753790

@
732362
-299429

olela)

192
+4 32170

(b) 3,00,192 +4,32,170 —=2,99,429 = 4,32,933
0

4 32933

732362
(c) 9,99,999 - 3,33,333 + 2,22,222 = 8,88,888

666 666
+2 22 222

999999

8§ 88 888

6 6 6 666

(d) 5,29,516 - 1,02,053 + 25,970 - 18,325 = 4,35,108
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(a) 5,45,327 +3,25,173 =2,20,154 = 9,999 + 1,001 = 6,41,348

2.

OO M
87 058K

-220154

+3 25 173

6 50346

8 70500

6 40347

oL B ELT)
6 50 ZANE

1 001
6 41 348

+

9 999
6 40347

—

(b) 7,47,879 -3,48,080 + 4,11,135- 78,891 + 121 = 7,32,164
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1. (a)

(b)

(c)

2. (a)

(b)

(c)

3. (a)

(b)

(c)

4, (a)

(b)

(c)

Exercise-9
45 rounded off to the nearest tens = 50
56 rounded off to the nearest tens = 60
Estimated sum =50 + 60 =110

635 rounded off to the nearest tens = 640
425 rounded off to the nearest tens = 430
Estimated sum = 640 + 430 = 1070

486 rounded off to the nearest tens = 490

36 rounded off to the nearest tens = 40
Estimated sum = 490 + 40 = 530

982 rounded off to the nearest hundreds = 1000
848 rounded off to the nearest hundreds = 800
Estimated sum = 1000 + 800 = 1800

4320 rounded off to the nearest hundreds = 4300
4175 rounded off to the nearest hundreds = 4200
Estimated sum = 4300 + 4200 = 8500

3557 rounded off to the nearest hundreds = 3600
2598 rounded off to the nearest hundreds = 2600
Estimated sum = 3600 + 2600 = 6200

92 rounded off to the nearest tens = 90

48 rounded off to the nearest tens = 50
Estimated difference = 90 =50 = 40

735 rounded off to the nearest tens = 740

525 rounded off to the nearest tens = 530
Estimated difference = 740 - 530 =210

786 rounded off to the nearest tens = 790

56 rounded off to the nearest tens = 60
Estimated difference = 790 - 60 = 730

872 rounded off to the nearest hundreds = 900
810 rounded off to the nearest hundreds = 800
Estimated difference = 900 - 800 = 100

5434 rounded off to the nearest hundreds = 5400
3279 rounded off to the nearest hundreds = 3300
Estimated difference = 5400 = 3300 = 2100

2598 rounded off to the nearest hundreds = 2600
1741 rounded off to the nearest hundreds = 1700
Estimated difference = 2600 = 1700 = 900
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